MT275

Part #	Name	Equip	Issued On	WO	Used	Unit Cost
CC3Z10732A	BATTERY TRAY WITH RESEVOIR	MT275	01/23/2024		1	\$191.76
BC3Z17632A	CAP WWF RESEVOIR	MT275	01/23/2024		1	\$10.16
WG318	WASHER PUMP MOTOR	MT275	01/23/2024		1	\$42.19
70086	SINGLE JACK CHAIN	MT275	01/24/2024		10	\$2.70
66430	LINK QUICK 1/8"	MT275	01/24/2024		20	\$1.13
58150	WASHER NOZZLES	MT275	06/19/2024	1561	2	\$11.02
65GHR	BATTERY - AC DELCO 5YR WARRANTY	MT275	06/20/2024	1561	2	\$197.25
710454	SEAL	MT275	10/15/2024		2	\$79.65
9917940A	CALIPER	MT275	10/15/2024		1	\$120.78
9917940B	CALIPER	MT275	10/15/2024		1	\$120.78
926367	WASHER HOSE ASSY	MT275	10/16/2024		1	\$23.01
B1410	FILTER OIL	MT275	10/21/2024		1	\$15.25
BF7903	FILTER FUEL	MT275	10/21/2024		1	\$7.88
4401802	LATCH	MT275	10/23/2024		6	\$14.57
2701528	SEAL KIT	MT275	10/23/2024		1	\$1,966.09
2701535	SEAL KIT D-RING	MT275	10/23/2024		1	\$472.14
NOS27SQ	NIGHTRIDER FLOOD	MT275	10/24/2024		6	\$31.43
BC3Z17632A	CAP WWF RESEVOIR	MT275	12/05/2024		1	\$7.40
FTS110	FUEL TEMP SENSOR	MT275	12/05/2024		1	\$56.52
600737	FUEL AND WATER SEPERATOR	MT275	12/05/2024		1	\$129.77
7151	FILTER OIL	MT275	12/05/2024		1	\$37.99
9902	FILTER AIR	MT275	12/05/2024		1	\$51.99
PG200SG25	GAUGE 200PSI LIQUID	MT275	12/13/2024		1	\$23.75
A700019	VMAC 200HR SERVICE KIT	MT275	12/13/2024		1	\$185.60
10108	GROMMET ASSORTMENT	MT275	12/16/2024		1	\$17.06
3560212	THROTTLE CONTROL VMAC	MT275	12/31/2024		1	\$949.84
JK81263	BELT SERPENTINE	MT275	01/07/2025		1	\$287.45
BT131	TENSIONER	MT275	01/07/2025		1	\$429.09
49466	TENSIONER	MT275	01/08/2025		1	\$87.30
25D081254	BELT	MT275	01/08/2025		1	\$154.05
10110	FUSE ASSORTMENT	MT275	01/08/2025		1	\$13.44
7151	FILTER OIL		08/11/2025	5804	1	\$39.98
9902	FILTER AIR	MT275	08/11/2025	5804	1	\$53.87
PA10011	FILTER FOAM	MT275	08/11/2025	5804	1	\$29.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

115,349 km & 9,156 hr

Туре	Created	Scheduled	Due	Started	Closed
	Aug 11, 2025	Aug 11, 2025		Aug 13, 2025 11:56 AM	Aug 13, 2025 11:56 AM

Line	Task			Parts	Labor	Total
1	✓ 500 hour service			\$122.85	\$0.00	\$122.85
	Part	Warehouse	Vendor/Bin	Qty	Unit Cost	Cost
	7151 - FILTER OIL	Main Parts Room Upstairs	NAPA	1.0	\$39.98	\$39.98
	9902 - FILTER AIR	Main Parts Room Upstairs	NAPA	1.0	\$53.87	\$53.87
	PA10011 - FILTER FOAM	Main Parts Room	SAPPHIRE	1.0	\$29.00	\$29.00
				Part Cost		\$122.85
				Labor		\$0.00
				Tax 1 (0.0%)		\$0.00
				Tax 2 (0.0%)		\$0.00
				Credit		(\$0.00)
				Total Cost		\$122.85



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Scheduled	Due	Started	Closed
	Mar 4, 2025		Mar 6, 2025 8:35 AM	Mar 6, 2025 8:35 AM

Line	Task	Parts	Labor	Total
1	✓ Coolant leak	\$0.00	\$120.00	\$120.00
	<u>Notes</u>			
	Coolant leak. Rubbed trough line			
	Removed coolant hose ordered from ford won't be in tell the 6th			
	Technician	Hours	Rate	Cost
	Josh Ratcliffe	2.0	\$60.00	\$120.00
2	✓ Installed coolant hose	\$0.00	\$180.00	\$180.00
	<u>Notes</u>			
	Coolant hose showed up installed vac filled system with coolant. Ran test drove no visible leaks and is not over heating			
	Technician	Hours	Rate	Cost
	Josh Ratcliffe	3.0	\$60.00	\$180.00
		Part Cost		\$0.00
		Labor		\$300.00
		Tax 1 (0.0%	%)	\$0.00
		Tax 2 (0.0%	6)	\$0.00
		Credit		(\$0.00)
		Total Cost		\$300.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Scheduled	Due	Started	Closed
	Jan 30, 2025		Jan 31, 2025 7:49 AM	Jan 31, 2025 7:49 AM

Line	Task		Parts	Labor	Total
1	✓ Repair lights		\$0.00	\$60.00	\$60.00
	Technician		Hours	Rate	Cost
	Austin Williams		1.0	\$60.00	\$60.00
			Part Cost		\$0.00
			Labor		\$60.00
			Tax 1 (0.0%)	\$0.00
			Tax 2 (0.0%)	\$0.00
			Credit		(\$0.00)
			Total Cost		\$60.00

0 (

MT275 - 2011 FORD Ford F550



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Created	Scheduled	Due	Started	Closed
	Jan 27, 2025	Jan 22, 2025		Jan 27, 2025 2:40 PM	Jan 27, 2025 2:40 PM

Line	Task	Parts	Labor	Total
1	✓ Repair	\$0.00	\$240.00	\$240.00
	<u>Notes</u>			
	Pull apart rear end and replace all wheels studs and wait for parts to be delivered			
	Technician	Hours	Rate	Cost
	Austin Williams	4.0	\$60.00	\$240.00
		Part Cost		\$0.00
		Labor		\$240.00
		Tax 1 (0.0	%)	\$0.00
		Tax 2 (0.0	%)	\$0.00
		Credit		(\$0.00)
		Total Cost		\$240.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Scheduled	Due	Started	Closed
	Jan 20, 2025	Jan 20, 2025	Jan 27, 2025 2:20 PM	Jan 27, 2025 2:20 PM

Line	Task	Parts	Labor	Total
1	✓ Eng Service and fix 4x4	\$0.00	\$240.00	\$240.00
	Technician	Hours	Rate	Cost
	Austin Williams	4.0	\$60.00	\$240.00
		Part Cost		\$0.00
		Labor		\$240.00
		Tax 1 (0.0%	6)	\$0.00
		Tax 2 (0.0%	6)	\$0.00
		Credit		(\$0.00)
		Total Cost		\$240.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Created	Scheduled	Due	Started	Closed
	Jan 8, 2025	Jan 7, 2025		Jan 8, 2025 7:30 AM	Jan 8, 2025 7:30 AM

Line Task Parts Labor Total $1 \checkmark Repair truck$ \$0.00 \$360.00 \$360.00

Notes

Install rads, lines, vmac pulleys and belt

Front end, head lights, put new coolant in

Start and check for leaks. Take for drive and check coolant and all fluids. Top up coolant

5. (c)			
Technician	Hours	Rate	Cost
Austin Williams	6.0	\$60.00	\$360.00
	Part Cost		\$0.00
	Labor		\$360.00
	Tax 1 (0.0%	6)	\$0.00
	Tax 2 (0.0%	6)	\$0.00
	Credit		(\$0.00)
	Total Cost		\$360.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Created	Scheduled	Due	Started	Closed
	Jan 5, 2025	Jan 5, 2025		Jan 5, 2025 9:19 PM	Jan 6, 2025 11:03 PM

Line Task

1 ✓ Repair truck

Parts

\$0.00

Labor

Total

\$1,260.00

\$1,260.00

<u>Notes</u>

Diag issue with truck

Make sure water truck can be pulled out of tent before pulling in service truck

Swap trucks

Belt blew and tensioner seized soils

Call and figure out parts

Drive to fort Mac to get parts

Drive back

Tear apart entire front end to remove tensioner because of way it's designed and no room to access

Get time to work on truck and install tensioner and belt. Clean belt melted belt material from pulleys. Wrong one was given. Drive back to fort Mac to get correct parts from ford

Drive back and install proper tensioner and belt

Technician	Hours	Rate	Cost
Austin Williams	14.0	\$60.00	\$840.00
Austin Williams	7.0	\$60.00	\$420.00

Work Order 3173

Austin Williams



Part Cost	\$0.00
Labor	\$1,260.00
Tax 1 (0.0%)	\$0.00
Tax 2 (0.0%)	\$0.00
Credit	(\$0.00)
Total Cost	\$1,260.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Created	Scheduled	Due	Started	Closed
	Jan 3, 2025	Dec 31, 2024		Jan 3, 2025 12:25 AM	Jan 3, 2025 12:26 AM

Line	Task	Parts	Labor	Total
1	✓ Replace vmac adjustment box	\$0.00	\$0.00	\$0.00
	<u>Notes</u>			
	Re wire in			
	Replace box			
	Tie up harness			
	Tune adjustment			
	Technician	Hours	Rate	Cost
	Austin Williams	0.0	\$7.00	\$0.00
		Part Cost		\$0.00
		Labor		\$0.00
		Tax 1 (0.0%)		\$0.00
		Tax 2 (0.0%)		\$0.00
		Credit		(\$0.00)
		Total Cost		\$0.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Created	Scheduled	Due	Started	Closed
	Jan 3, 2025	Dec 30, 2024		Jan 3, 2025 12:24 AM	Jan 3, 2025 12:24 AM

Line	Task	Parts	Labor	Total
1	✓ Clean	\$0.00	\$180.00	\$180.00
	Technician	Hours	Rate	Cost
	Austin Williams	3.0	\$60.00	\$180.00
		Part Cost		\$0.00
		Labor		\$180.00
		Tax 1 (0.0%)	\$0.00
		Tax 2 (0.0%	.)	\$0.00
		Credit		(\$0.00)
		Total Cost		\$180.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Created	Scheduled	Due	Started	Closed
	Dec 19, 2024	Dec 15, 2024	Dec 15, 2024	Dec 19, 2024 1:08 PM	Dec 19, 2024 1:08 PM

 Line
 Task
 Parts
 Labor
 Total

 1
 ✓ Repair
 \$0.00
 \$180.00
 \$180.00

<u>Notes</u>

Replace tail light

Replace cab light

Fix headlight mount and bulb

Put airline antifreeze in tank

Replace air filter

Wash truck

Cost Technician Hours Rate \$180.00 \$60.00 **Austin Williams** 3.0 \$0.00 Part Cost Labor \$180.00 \$0.00 Tax 1 (0.0%) \$0.00 Tax 2 (0.0%) (\$0.00)Credit **Total Cost** \$180.00



Serial

Tag

Total Cost

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Created	Scheduled	Due	Started	Closed
	Dec 19, 2024	Dec 14, 2024	Dec 14, 2024	Dec 19, 2024 1:00 PM	Dec 19, 2024 1:00 PM

Parts Labor Total Line Task \$0.00 \$180.00 \$180.00 1 ✓ Vmac **Notes** Install mudflaps on truck Get parts for up north Found issue with board for vmac Ordered Hours Rate Cost Technician \$180.00 \$60.00 **Austin Williams** 3.0 \$0.00 Part Cost \$180.00 Labor \$0.00 Tax 1 (0.0%) \$0.00 Tax 2 (0.0%) Credit (\$0.00)

\$180.00



Serial

Tag

Total Cost

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Created	Scheduled	Due	Started	Closed
	Dec 19, 2024	Dec 13, 2024	Dec 13, 2024	Dec 19, 2024 12:58 PM	Dec 19, 2024 12:58 PM

Line Task Parts Labor Total

1 ✓ Diag vmac \$0.00 \$360.00 \$360.00

Notes

Adjust vmac

Check wiring

Check controller Service vmac

Change gauge on tank

Hours Rate Cost Technician \$360.00 **Austin Williams** 6.0 \$60.00 Part Cost \$0.00 \$360.00 Labor \$0.00 Tax 1 (0.0%) Tax 2 (0.0%) \$0.00 Credit (\$0.00)

\$360.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Created	Scheduled	Due	Started	Closed
	Dec 19, 2024	Dec 7, 2024	Dec 7, 2024	Dec 19, 2024 12:09 PM	Dec 19, 2024 12:09 PM

Line	Task	Parts	Labor	Total
1	✓ Service	\$0.00	\$90.00	\$90.00
	Technician	Hours	Rate	Cost
	Austin Williams	1.5	\$60.00	\$90.00
		Part Cost		\$0.00
		Labor		\$90.00
		Tax 1 (0.0%)	\$0.00
		Tax 2 (0.0%	Tax 2 (0.0%)	
		Credit		(\$0.00)
		Total Cost		\$90.00



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

0 km & 0 hr

Туре	Scheduled	Due	Started	Closed
Diagnostics	Dec 2, 2024		Dec 2, 2024 6:25 PM	Dec 2, 2024 6:25 PM

Line	Task	Parts	Labor	Total
1	✓ Repair engine light	\$0.00	\$30.00	\$30.00
	Technician	Hours	Rate	Cost
	Devin Dease	0.5	\$60.00	\$30.00
		Part Cost		\$0.00
		Labor		\$30.00
		Tax 1 (0.0%) Tax 2 (0.0%)		
		Credit		(\$0.00)
		Total Cost		\$30.00

Notes

Notes

User

Time

Hooked up scanner and read codes. Had a code for fuel temp sensor. Informed mechanic

Devin Dease

Dec 2, 2024 6:25 PM



Serial

Tag

Closed Meters

1FDUF5HT6BEB83546

BZM9673

Туре	Created	Scheduled	Due	Started	Closed
	Dec 3, 2024	Dec 1, 2024		Dec 3, 2024 6:49 AM	Dec 3, 2024 6:49 AM

Line	Task	Parts	Labor	Total		
1	✓ Clean	\$0.00	\$300.00	\$300.00		
	<u>Notes</u>					
	Dec 1/24					
	Wash truck					
	Clean cab of truck					
	Reorganized truck					
	Re stocked truck before leaving up north					
	Technician	Hours	Rate	Cost		
	Austin Williams	5.0	\$60.00	\$300.00		
		Part Cost		\$0.00		
		Labor		\$300.00		
		Tax 1 (0.0%		\$0.00		
		Tax 2 (0.0%	6)	\$0.00		
		Credit		(\$0.00)		
		Total Cost		\$300.00		

Туре

Created

MT275 - 2011 FORD Ford F550

Scheduled



Serial

Due

Tag

Closed Meters

1FDUF5HT6BEB83546

Started

BZM9673

Closed

		Jun 19, 2024	Jun 19, 2024		Jun 19, 2024 10	:23 AM	Jun 20, 2024 7:3	9 AM
Line	Task	<				Parts	Labor	Total
1	✓ F	Replace Batterie	S			\$394.50	\$0.00	\$394.50
	<u>Not</u>	es						
	june	e 18 2024						
	repl	aced both batteries						
	one	under hood						
	one	under cab						
	Part			Warehouse	Vendor/Bin	Qty	Unit Cost	Cost
	65GH	R - BATTERY - AC DEL	CO 5YR WARRANTY	Truck Shop Upstairs	SMR	2.0	\$197.25	\$394.50
2	✓ \	washer tank				\$22.04	\$0.00	\$22.04
	<u>Not</u>	:es						
	fixe	d crack in washer tan	k					
	inst	alled new pump						
	inst	alled washer fluid pis	ssers					
	Part			Warehouse	Vendor/Bin	Qty	Unit Cost	Cost
	58150) - Washer Nozzles		Truck Shop Upstairs	SAPPHIRE / L.L2.05	2.0	\$11.02	\$22.04
						Part Cost Labor Tax 1 (0.0% Tax 2 (0.0% Credit Total Cost		\$416.54 \$0.00 \$0.00 \$0.00 (\$0.00) \$416.54